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FIRST TERM EXAMINATION (21 September
Class = XI
Paper- Mathematics (Set-A)

Time: 3hrs.

Seneral Instructions: h
. . ark each.
i Section A has 18 MCQ's and 02 Assertion-Reason based questions of Tm

3. Section B has 5 Very Short Answer type questions of 2 marks each.
4. Section C has 6 Short Answer type questions of 3 marks each.

S. Section D has 4 Long Answer type questions of 5 marks each.

6. Section E has 3 case based studies of 4 marks each.

Section - A

L. Let A and B be two sets in the same universal set, than A — B

a) AnNB  b) A'nB ¢) AnB d) none of these
2. The number of subsets of a set containing n element is
a) n D) 20 =1" " c).n? -d)n
3. The set - builder form of (-7, 0) is
a) {x:x€R,-7<x<0) b) {x:x€R,-7<x<0)
c) {x:xER,-7 < x < 9) d) {x:x €R,-7 < x < 0}
4. Number of all possible subsets of 4 = {a}
a) 0 )il e).2° d)3

9. The range of the relation R defined by R = {(x,x +5):x € (0,1,2,3,4,5} is
a) {5,6,7,8) b) {5,6,7,8,9,10)

c) {5,6,7,8,10} d) {5,7,8,9,10)

6. The total number of relations f rom A into A, if A = {2,3)
a) 4 )8 )16 d)32

7. It f(x) = 3x* ~ 5x% + 9, then f(~1) is
8) 9 B)7 . oB d) 3
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9. Compute : V=25 + 3vV—4 + 2V=9

a) 101 b) 111 c) 131 d) 17
10. Find |1 + i}

a)~1 D)3 C)2  d)=2
11. The conjugate of —3 + 2i 1s

g).3-2i b)—3—2i ¢c)3+2i . ::dy—3
12, If —x < —7, then

a) =<7 D)= S =7 Ch=x =T id)—x> T

13. If —=3x + 12 < 0, then
a)x<4 Db)x<-4 c)x>4 d) x> —4

14. LCM of (6i, 7i, 8i) is
a) 61 b)7i ¢)8i . . d)10i

= 1> The number of ways in which five children stand in tﬁe queue are?
a) 120 b)130  ¢)140  d)150
. 16 .If ¢ (n,12) = ¢ (n,5), then value of n is
a) 15 bB16 17 d)18
17, The number of chords drawn through 21 points on circle are
a) 21 il - ¢)210 d) 20
18. The slope of line, passing though two points A = (3,—2)and B (7,—2)
a) 4 . by 0 . ¢} 1 " d not defined
19. If two lines of slope m, and m, are perpendicular then

a) mi+m,=0 bymxmy=1 ¢)mxXmy=-1 d)ym=-m,

20. The median of the following datais 3, 9, 3, 5, 12:10.18,4. 7,19, 21
a) 5 b) 6 0)9. . d)10



Section - B
21. Write the following sets in roster form

a) A={x:x isatwo — digit natural number such that the sum of its digits is 8}
b) B={x:xisan integer and — 3 < x < 7}
22. Find the domain and range of f(x) = |x|, also draw the graph.

23. Express jh@ in the forma +i b

=yl

24. Solve 5x — 3 < 7, when ‘
a) x isaninteger b) x is a real number

25. Expand using Binomial theorem

5
X g |
(§+;)

Section - C
2614 A =:{3,5,7,9,11},- B.= {7,9,11;13} G:='{11:13;15},D. = {15;17}, find
a) AnCnD b)An (B UD) c)An(BUC)

27. Find the domain and.range of V9 — x?2

28. Find the real numbers x and }; if (x — iy) (3 + 5i) is the conjugate of —6 — 24i
29. Solve the inequalities and represent the solution on the number line
3x—7>2 (x—6), 6 —x> 1.2'1'—2x
30. Findnif P = (n—1,3): P (n,4) = 1:9
31. Find which is larger (1.1)19000 os-/1000, using binomial theorem
Section - D

(a+1i)?

32..a)

= p + i q, show that p? + ¢2 = &1’

(2a~i) 4a2+1 (3)

b) Find the multiplicative inverse of 3 +. 21 (2)
33. a) Find the number of arrangements of the letters of word IN
D

b) In how many of these arrangements, EPENDENCE (1)
c) Do the words starts with P. (1)
d) Do all the vowels always occur together (1)
e) Do all the vowels never occur together 8 ;



/
and (4,-2) (2r

-

N e he )oinlS (3 ""'-1)
34. ) Find the angle between the x — axis and the line joining the | '
N7 . i ‘ t i l ‘.‘ t 2 ‘? R y -

ndi to the line
-3.5) and )crp(,ndlcular
b) Find the equation of the line passing t.‘hmugh (=3,9) b

(3)
through the points (2, 5) and (-3, 6)

: : ing distribution
35. Calculate mean, variance and standard deviation for the following
290 90-100
Class | 3040 | 4050 | 50-60 | 60-70 | 70-80 | 8039 x
| Frequency 3 [y 12 15 8
Section - E

“ '

Case Study Questions . ; HEMATICS
36. Two non y-- empty set A and B are given by A = {x : x is a letter in MAT )

B = {x: xisaletter in STATISTICS} . . i
Based on the above information, answer the following questions :

1. Write set A and B in roster form. q)
2. Find AUB (1)
3. Find A N B and number of subsets of A and B (2)

37 IfA = {1,2,3,5}, B = {4,6,9} and a relation R from A to B is defined by
R = {(x,y): the difference between and y isodd, x € A,y € B]. Then

Z. Write R in the roster form (1)
Z. Write domain and range of R 1)
3. Represent R by an arrow diagram ‘ (2)

38. The vertices of APQR and P (2,1),Q(
1. Find slope of line PR (1)
2. Findslope of line PQ '

(1)
3. Find the equation of the median through vertex R,

(2)

-2,3) and R (4, 5) from above information.



: BUDHA DAL PUBLIC SCHOOL PATIALA
FIRST TERM EXAMINATION (21 September 2023)
Class - XI
Paper- Mathematics (Set-B) M.M. 80
Time: 3hrs. .

General Instructions:

1. Section A has 18 MCQ's and 02 Assertion-Reason based questions of 1 mark each.

- Section B has 5 Very Short Answer type questions of 2 marks each.
4. Section C has 6 Short Answer type questions of 3 marks each.

9. Sectfon D has 4 Long Answer type questions of 5 marks each.
6. Section E has 3 case based studies of 4 marks each.

Section - A

1. Forany twoset Aand B, An (AU B) =

a) A b) B ¢) @ d) noneof these

2. IftA={1,3,58} and B = {2, 4}, then
a) 4 €A b){4}c A <c¢)Bc A d)none of these
3. LetA={x:xeR,x>4}and B = {(xeR:x <5}, thenANB =
) 5 B4 WS s
4. Number of all possible subsets of 4 = {a}
a) 0 bl )2 d)3

5. The range of the relation R defined by R = {(x,x + 5):x € {0,1,2,3, 4, 5} is
a) {5,6,7,8) b) {5,6,7,8,9, 10}

c) {5,6,7,8,10} ' d) {6,7,8,9,10}
6. Itn(4) =3,n(B) =4,thenn (A X B) is
a) 3 P4 12 dy27
7. It (x+ 1,y —2) =(3,1), the values of x and y are
a) (1,2) b)(23) ) (34) d) (4,5)
8. Evaluate i°%8

a) 0 Dl 2  d)3



9. Compute : V=25 + 3vV=74 + 2/—=9

a) 101 b)11i ) 134 d) 171

10. Find |3 + 4i]

a) 3 b) 4 C) 5 d) =5
11. The conjugate of 4 — 3; is

Q) —4+3i  b)—4—3; Q)4+3i d)-3i

12. If x > 4, then

a) -x < 4 b) -x < —4 c)x=2-4 d)x<-—4

13. The solution set of 4x—-12>0, is

V@x) B (03 gEw) g (03]

17. The slope of line passing through two points A(3,-2)and B (7,-2)

a) 4 b) 0 c) not defined d) 1

19. The median of the following data is 3,9, 5,3, 12,10, 18,4, 7,19, 21
a) 5. b6 ¢ 9 d) 10

20. If ¢ (n,12) = ¢ (n, 5), then value of n is

) 15 b)16 )17 d) 18




Section - B

21. Write the following sets in the set-builder form

Q) A=1{2,4,8,16,32)

22. IfA={-1,1}, find A x 4 x A

3-2i . .
23. Express T the standard forma +i b

24. Solve 3x +8 > 2, when

a) x isan integer b) x -is a real number

2. Expand using Binomial theorem

(E-2)

Section - C

26. Find the domain and range of V25 — x2

27.1f (x + iy)® = u + iv, then show that - +

v
X 4

=4 (x* - y?)
28. Solve the inequalities and represent the solution on the number line
2 =1)<x=+5 3(x+2)>2—x
29. Find 7 ,if 5P (4,7) = 6 P (5,7 — 1)
30. Using binomial theorem, which is larger (1.01)1000000 5,. 10 000

31. Find the mean deviation about the mean for the following data :

X 2 D 6 8 10 12
i 1 Tt
Ly 2 8 10 7 8 5
Section - D
[ [y oves ...c(_xitQi._ » y *41)?
32, a)lf a+ (b= (xigy) Prove that a‘ + bh? = m CS)
b) Find the multi plicative inversge of V5 + 3 (&)



‘ : ing cards? (l) r 4
33. a) What is the number of ways of choosing 4 cards from a pack of 52 playing
b) Inhow many of those?

o - : 1)

1) Four cards are of same suit. gll/z)
11) Four cards belong to four different suits. (1'2)
)  Two are red cards and two are black cards.

34. a) Reduce 3x + 2y — 12 = 0 into intercept form and find their intercepts. (2)

. B 8 th )
b) Find the equation of the line passing through (-3,5) and parallel to the line jomning the
pomnts (2, 5) and (-3, 6) ° (3)

35. Find mean, variance and standard deviation for the following distribution

Class 0-10 | 10-20 20-30 30-40 | 40-50

Frequency 5 8 1D 16 6
Section - E

Case Study Questions

36. Two non - empty set A and B are given by
A = {x : x is a letter in the word FOLLOW}
B = {x: xis aletter in the word WOLF )

Based on the above information, answer the following questions :

1. Write set A and B in roster form. (1)
- 2. Are the following pair of sets equal. (1)
3. Find A n B and number of subsets of set A. (2)

37. fA={1,2,3, 4,5,6} . Define a relation R from A to A by
R={(x,y):yx + 1}, then :

1. Write relation R in the roster form (1)
Z. Write domain and range of R (1)
3. Represent R by an arrow diagram ‘ (2)

38. The vertices of AABC are A (2,3),B(4,-1)and C (1, 2) from above information.

1. Find the slope of line AB (1)
2. Find the slope of line BC (1)
3. Find the angle between the lines AB and BC. (2)

8-4



